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1. Letf(0,1)™(0,1) be a differentiable function such that /" (x) # 0 for all* €(0,1) and

N B (L Gerds - Gerds)
f[_] =, - Suppose forall x, 1,11{{0 : J = f(x). Then the
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value of f [ ]belongs to:
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2. Evaluate J'\ X e(0,1):
Y-+ o
(a) 2%x+c (b) 2éx+C (c) 2% x+C (d) None of these
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3 Ifszx +rJ[ﬁ(x +r)jdx— Hﬁ(l +r)) }thenk=

(a) 2013 (b) 2013! (c) 20132 (d) 20132013
4. Let f{x) be differentiable function on the interval (0, ) such that /(1) =1 and
i M} Lyx » 0, then /) is
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3x° 3 X 3x° 1 3x
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5. The quadratic polynomials defined on real coefficients
p(x)=ax’ +2bx+c,0(x) = a,x* +2b,x + ¢, P(x)andQ(x) both take positive values
Vx €R.If £ (x) = aa,x’ +bbx+cc, g 0 .
(a) f(x)<0Vx eR (b) f(x)>0VxeR
(c) f (x) takes both positive and negative values (d) Nothing can be said about f (x)
x<lif —o<x<l

6. Number of points at which the functionx o1 #e>1 is not derivable is :
(a) 0 (b) 1 (c)2 (d)3
| T T r )
: 1mZLsm cos Sme(k+2)J 2(k+2)} =
(2) 0 (b1 (©)2 (d)3
8. Range of f(x)= \/sin(log7(cos(sin X)) is -
(a) [0,1) (b) {0,1} (c) {0} (d) [1,7]

(x+1)° i x<l1

9. Letf: R™Ris defined by f (x)= {In x+(b*=3b+10) ; x>1.Iff (x) is invertible, then the
set of all values of ‘b’ is:
(a) {1,2} ®)d (c) {2,5} (d) None of these



